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The Explode 3D Objects command enables the user to select 3D solid objects and explode
them into component lines and points. The command can break them into top, bottom, and
vertical side objects on separate layers so that the data can be used as source data for surface

models.
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Explode options
Mode

i® Multiple

) Single
Up layer Layer: |{layer} Up
Vertical layer  Laver | {layer} Vertical
Down layer Layer: |{layer}_Down
[ ] Create CAD points

Layer name placehalders:

{name} - Name of the object.
{layer} - Layer name of the object.

Faces

Index Vertices Direction

1. Click in the 3D Objects selection field and then in a graphic view select one or multiple BIM objects.

2. Explode Options:

Mode: Multiple

B MediumGreer =

[ ellow -
] Cyan .
Verbces
Index ertex
Explode All Explode Selected Close

= Up Layer — Check this box to create linework for the top surface from the object. Enter a layer
name for the lines to be placed, which can use the placeholders shown and then a suffix. The
default used is {layer}_Up. Select a colour for the linework.

=  Vertical Layer — Check this box to create linework for the vertical surface from the object. Enter a
layer name for the lines to be placed, which can use the placeholders shown and then a suffix. The
default used is {layer}_Vertical. Select a colour for the linework.
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=  Down Layer — Check this box to create linework for the down surface from the object. Enter a
layer name for the lines to be placed, which can use the placeholders shown and then a suffix. The
default used is {layer}_Down. Select a colour for the linework.

Mode: Single

= Layer —Creates linework for the whole selected object in one layer. Enter a layer name for the lines
to be placed, which can use the placeholders shown and then a suffix. The default used is
{layer}_Exploded. Select a colour for the linework.

= Create CAD Points — Check this box to create CAD points at the ends of all exploded lines for
each layer above selected. These points are not connected to the lines.

3. Layer name placeholders:
= {name} — This will use the name of the object selected.
= {layer} — This will use the layer name of the object selected.
4. The Faces and Vertices of the 3D objects selected are listed in the table. This only happens when a single
object is selected as it is disabled if multiple objects are chosen.
= These are selectable in the table and can be used to select just the face or vertices for inspection.
Any faces selected can be exploded using the Explode Selected button to get only those lines
and points. These will be placed on the appropriate layers depending on what you have set.
5. Do either of the following:
= Click Explode All to explode the whole object using the set explode options chosen.
=  Click Explode Selected to explode only the selected faces highlighted in the list.
=  Click Close when finished with the command.
Example:

k\—h\_h__ 19 (X = 369726.099282614; ¥ = 8110896 2771

Faces WVertices
Index Vertices Direction Index Vertex
0 011518 Diown ] (X = 369724 873037968, Y = 8110896 311¢
1 2310 Down 1 (X = 369726.078516641; ¥ = 8110896 2777
2 4532 Diown 2 (¥ = 369724 834168573, Y = 8110856 451¢
3 6754 Up 3 (¥ = 369726.083647646; ¥ = 8110896 457¢
4 8376 Up 4 (¥ = 369724 503645833, Y = 8110856 4511
& 101198 Down 5 (¥ = 369726.108124506; ¥ = 8110896 456¢
& 12131110 Down & (X = 369724 795763769, Y = 8110852 5327
7 14151312 Down 7 (¥ = 369725.855242443; Y = 8110892 498¢
8 16171514 Down g (X = 369724 771286308, Y = 8110852 534
9 18191716 Down 9 (¥ = 369725.970765582; Y = 8110892 499
10 1357911131577 Down 10 (X = 369724 776417914; ¥ = 8110892 7132
1 18161412108642 Up 1 (X = 369725.975896587; Y = 8110892 6791
12 (X = 369724.797183886; Y = 811089271127
12 (X = 369725.99666256; Y = 8110892.6785¢
T 14 (¥ = 369724 B05464416; ¥ = 81108592 942¢

15 (¥ = 369726.004943089; Y = 81108592 9084
16 (X = 369724.854971913; Y = 81108960812
17 (¥ = 369726.094450586; ¥ = 8110896 .0471
18 (X = 369724.853803941; Y = 8110896.311:




